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Physics Setting:
Q3p85_W2p62_t0p21_higheps
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Physics Setting:
Q3p85_W2p62_t0p21
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Physics Setting:
Q3p85_W2p62_t0p21_loweps
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Physics Setting:
Q3p85_W2p62_t0p21_higheps
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Physics Setting:
Q3p85_W2p62_t0p21
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Physics Setting:
Q3p85_W2p62_t0p21_loweps
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Physics Setting:
Q3p85_W2p62_t0p21_higheps
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Physics Setting:
Q3p85_W2p62_t0p21

 Iteration: 03

0 50 100 150 200 250 300 350
phi (deg)

0.000

0.025

0.050

0.075

0.100

0.125

0.150

0.175

d2
/d

td
 (

b/
G

eV
2 )

L = 0.486 ± 0.031
T = 0.359 ± 0.015

LT = 0.075 ± 0.009
TT = 0.040 ± 0.020

t central = 0.198

Fit (low )
Fit (high )
low 
high 

0 50 100 150 200 250 300 350
phi (deg)

0.00

0.02

0.04

0.06

0.08

0.10

0.12

d2
/d

td
 (

b/
G

eV
2 )

L = 0.170 ± 0.025
T = 0.383 ± 0.012

LT = 0.016 ± 0.007
TT = -0.046 ± 0.016

t central = 0.254

Fit (low )
Fit (high )
low 
high 

0 50 100 150 200 250 300 350
phi (deg)

0.00

0.02

0.04

0.06

0.08

0.10

d2
/d

td
 (

b/
G

eV
2 )

L = 0.188 ± 0.022
T = 0.318 ± 0.011

LT = -0.011 ± 0.006
TT = -0.037 ± 0.014

t central = 0.290

Fit (low )
Fit (high )
low 
high 

0 50 100 150 200 250 300 350
phi (deg)

0.00

0.02

0.04

0.06

0.08

0.10

d2
/d

td
 (

b/
G

eV
2 )

L = 0.087 ± 0.019
T = 0.324 ± 0.010

LT = -0.038 ± 0.005
TT = -0.057 ± 0.012

t central = 0.331

Fit (low )
Fit (high )
low 
high 

0 50 100 150 200 250 300 350
phi (deg)

0.00

0.02

0.04

0.06

0.08

d2
/d

td
 (

b/
G

eV
2 )

L = 0.078 ± 0.012
T = 0.256 ± 0.007

LT = -0.079 ± 0.004
TT = -0.064 ± 0.008

t central = 0.427

Fit (low )
Fit (high )
low 
high 



0.2 0.25 0.3 0.35 0.4

)2t (GeV

0.1

0.2

0.3

0.4

0.5

)2
b/

G
eV

µ
 ( Lσ

 vs tLσ  vs tLσ

0.2 0.25 0.3 0.35 0.4

)2t (GeV

0.24

0.26

0.28

0.3

0.32

0.34

0.36

0.38

0.4

)2
b/

G
eV

µ
 (

Tσ

 vs tTσ  vs tTσ

0.2 0.25 0.3 0.35 0.4

)2t (GeV

0.08−

0.06−

0.04−

0.02−

0

0.02

0.04

0.06

0.08

0.1

)2
b/

G
eV

µ
 (

LTσ

 vs tLTσ  vs tLTσ

0.2 0.25 0.3 0.35 0.4

)2t (GeV

0.08−

0.06−

0.04−

0.02−

0

0.02

0.04

0.06

)2
b/

G
eV

µ
 (

T
T

σ

 vs tTTσ  vs tTTσ



0.15 0.2 0.25 0.3 0.35 0.4 0.45

)2t (GeV

1−

0.8−

0.6−

0.4−

0.2−

0

0.2

0.4

0.6

0.8

1

)2
b/

G
eV

µ
 ( Lσ

 vs tLσ  vs tLσ

0.15 0.2 0.25 0.3 0.35 0.4 0.45

)2t (GeV

0

0.1

0.2

0.3

0.4

0.5

0.6

0.7

0.8

0.9

1

)2
b/

G
eV

µ
 (

Tσ

 vs tTσ  vs tTσ

0.15 0.2 0.25 0.3 0.35 0.4 0.45

)2t (GeV

0.5−

0.4−

0.3−

0.2−

0.1−

0

0.1

0.2

0.3

0.4

0.5

)2
b/

G
eV

µ
 (

LTσ

 vs tLTσ  vs tLTσ

0.15 0.2 0.25 0.3 0.35 0.4 0.45

)2t (GeV

0.5−

0.4−

0.3−

0.2−

0.1−

0

0.1

0.2

0.3

0.4

0.5

)2
b/

G
eV

µ
 (

T
T

σ

 vs tTTσ  vs tTTσ



Physics Setting:
Q3p85_W2p62_t0p21_loweps
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Physics Setting:
Q3p85_W2p62_t0p21_higheps
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Physics Setting:
Q3p85_W2p62_t0p21
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